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2552
2352 29
g Y 25AR 29

CEI - PR(B) - NRAY - BAS e DS
A= 70,000 *12==+42| x30H £t 100,800
2EES 7Y 2,000,000& 2,000
S2E =Y A 70,000& *3JH 2 %43 840
2IES = 1,500,000 1,500
O=2st2% ASZLHe ¥ MM 29
2,000,000& 2,000
tal2t A2 2t 251,053 251,548 AN485
A=A 2 251,083 251,548 A495
201 Bt 178,616 181,223 A2,607
01 AFR22lH| 532 600 ~68
OFASSRR BIH4E S|
500,000& *13] 500
O 22/ WsE It 32,000 x1& 13l 32
S3 =24 178,084 180,623 AN2,539
Os&dJl et da 2el 120,000% 30 x12& 4,320
O&IINEZE FA 5,000,000& 5,000
Oblag &I *X 1,000,000 1,000
Od=sotdal 1,200,000& »23] 2,400
Od2 |AU(HAS & H3HE)
11,606,000 11,606
Og SFA(A3AHE) 1,175,000 1,175
OZstxdE A 850,000& *13] 850
(@F === FSEA 400,000 *23| 800
Ox=&HA 120,000& 12 120
OFMES (203,000 +2,485m" *60& ) *53] 1,761
OXt& = XlHl 2,932,000& 2,932
OHIIHEHA === 2,500,000 * 14| 2,500
O&J|erd 22| X+ 2l 85,000 x1& *12] 85
ORI (HSLEEI])
890,000& »23| 1,780
OINERES(AHSI) 55,0003 = 1CH*23 110
(OFSIPIE=3 7,000,000 122 84,000
Odot=& 1,000,000& x12& 12,000
ORI 458,000& 128 5,496
OaxANd HLEZ =8 4,876,000 12 4,876
OLAIE 2c|EH 3,000,000& 3,000
OLZAE =X 4,000,000 4,000
OA oM 3l H 48,0002 12 48
OXtS XAl 65,0002 *1CH 65
OsxEE = 310,000 = 1CH 310
OJIAANEZE =X 6,000,000& 6,000
odl - s JtAY  1,5003+1,200kg*12E 21,600




2A: S22
M SSC253 Y 2
SR 233 AIEZ2 22| (¢t &
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
QIAANAE EHIIEAN =2 150, 000& 150
OdAtha HUBE = 100, 000& 100
301 et A= 6,437 6,125 312
09 SUIRRIVBAS 6,437 6,125 312
O&AN SANEX 6,437
== 88,000& x2H x12& 2,112
wEH| 2,600 x2Hx222 x 12 1,373
S A 5,000& »2H %222 x 12& 2,640
TE==xs]l 156,000& »2H 312
307 212t01A 66,000 64,200 1,800
05 DIZIREZ 66,000 64,200 1,800
OFAE22ESH 63,000,000 * 14! 63,000
O+ HANESK a4
250,000& x12& 3,000
JdEst SAS2E M 18,054 21,337 N 3,283
StSt=XI0 22l 18,054 21,337 N3,283
101 Q1A H| 10,854 11,185 AN 331
04 JIZMZ2ZANSE 4 10,854 11,185 A 331
Ote=Xl & T2 10,854
- oI 42,0453 x2H %100 8,409
- =Xt 42,0453 x2H « 12 1,010
- At 42,0453 x2H x5 505
SUHAZEERE 2 9,924 ,000& *4 . 5% 447
NELSERES 9,924,000 *1.3% 130
MNEEREEZ 9,924,000& *0.7% 70
ZOHABEHEL 2 9,924,000 *2.665% 265
LoD QABEREE 2 265,000& *6.55% 18
201 dEt2dd| 1,900 2,152 N 252
02 ss2494l 1,900 2,162 N 252
OX2Asd & SIe=X0 22 1,900
A2AUEEZ B 100,000 *3& 300
S0FD RE P 2,000& *4002| £ 800
=X0 22/ &H |X 400,000& 400
- APE FY 400,000& 400
206 THZH 5,300 8,000 A2,700
01 M=Hl 5,300 8,000 A2,700
OHZEE =3t & NP2 5,300
= -0HE x3 500& *4,000& 2,000
-2 =3 3,000& *7002 2,100
- A2 X3 1,000& *7002 700




SN 2xEess 2
HE: SHC2H52 2Y
Sl W FATL X4 (25l &2
SN-EHH . SH(BH) - HPAY - BE2 Ofl &t o gggig Hnz2
- zstel 2379 50,0002 * 102 500
zoiy el 111,156 66,945 44,210
zoy 2y 106,395 62, 185 44,210
101 124l 6,558 0 6,558
04 JIVH22HSES 6,558 0 6,558
ORUEX X#ol 6,558
I 73,1982 %1% +752 5,490
- =3 73,1982+ 1 +72 513
ELEEEEE IS 6,003, 00024 +4.5% 271
Snk-TI = 6,003,0002!+1.3% 79
ANEERe S 6,003, 00024 +0. 7% 43
2OIALBHLLZ 6,003,000 +2.665% 160
COFIYBEHLLS  16,000246.55% 2
201 Yer2 ) 46, 140 32,180 13,960
01 At 4,600 2,000 2,600
OZoH UAZML SUB 2
200,0002 * 15 3,000
OB SANA 222 50,0002 6% +23] 600
Ozl 2x76 P 20,0002 %504 1,000
02 IT2YH| 41,540 30, 180 11,360
Omot: =8 200,000 *3CH x23] 1,200
oot 2| 500,0002 *3CH 18] 1,500
OBOY OHFALD MALH2 1,500,008 1,500
OZEAE Fo L HASAK RUE A
50,0002 *83 400
ORUIIH RX (MYl ZT&) 6,000,002 6,000
ORUEY X (M2l Te) 8,000,002 8,000
ORUSE X (M2l T&) 6,000,002 6,000
O#ISAFY RX 163,000, 0002 *2% 3,260
Oga &l 2X 99,000, 00021 2% 1,980
OAZAR SQUIH RX 117,000,000 2% 2,340
ORUAE ZIIZA 9,360,0002! 9,360
01 LsrE A 8,597 8,825 £228
09 BoA2LReABAZ 6,437 6,665 ~228
ozezne 6,437
=2 83,0002 x2 « 122 2,112
DEY| 2,6002 x2Y %222 * 122 1,373
=] 5,0002 22§ x202 #1202 2,640
29 56,0008 *2% 312
12 DB A3 2,160 0 2,160
OBY T20| B4 10,000 +62+33/ <128 2,160

_4_




M S22
BM: 25C25Y 2
&l SHET 2el P2
SA - Ao (F) - NEAY - Ba S Ao S H RS2
0l &4 08
401 A &HIL 2048 33,200 5,000 28,200
01 Al&H| 33,200 5,000 28,200
OUsHE FUIIH B3 At 9,000,000 9,000
O3 E SHA#=Z CCTV4E Xl 3,000,000 3,000
OCCTVItoi et Al 2,200,000 6CH 13,200
Odte IsH SLZHEX AIAE WA
8,000,000 8,000
405 ItHatE S| 11,900 16,180 24,280
01 TN ESHSHI 11,900 16, 180 24,280
ORUSEI|J1(CDEHI0I0) 1,700,000 *1CH 1,700
O3dAEE 2LIH EX(HBHEH)
400,000& +5CH 2,000
Ogd 24 ditg) 1,450,000 *2CH 2,900
02, 3EAlA WD) 5,300,000& 5,300
LU= 20t 24 4,760 4,760 0
201 LBt 1,160 1,560 A 400
01 AR 22| 800 1,200 A400
ORUo=2 n= &It 200,000& »4H 800
02 23234l 360 360 0
O=2Uo=2 "aldl 10,0003 3« 123 360
202 O4H| 3,600 3,200 400
01 =LHAbI 3,600 3,200 400
O2AAEE 0| 3,600,000& 3,600
HY2IZH (ST 255H) 24,696 25,796 21,100
Jl2Z 4l 24,696 25,796 A 1,100
Jl22Z | 24,696 25,796 A 1,100
201 LBt A Y| 19,816 20,836 A 1,020
01 AtE222|H] 15,916 16,936 A 1,020
OFMIAHLSHA I8 2 760
o2R=(s=) 100,000 *2H 12| 200
22=(ot=) 70,0003 x2H x13] 140
Lol = 30,0003 2 x23] 120
&3t 50,000& 2 x13] 100
gets 100,000 x2H *13| 200
OJ183¢ 243 72 2,256
T2l Ed 175,000 *5&*2H 1,750
SA EH 55,0003 64 330
SMNESEI] EYH 88,0003 *2IH 176
Ozt 2HESE 7L
150& *10,0000H *2& 3,000
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